
SIGNO
Mercedes Benz
Vito/Viano 2003– SIGNO

Mercedes Benz
Vito/Viano 2003–
Part-No. : 044 117

Part-No. : 045 117

Zusatzbügel / additional carrier bow

060 591 - Stand 24/09/2008 Rev.00

2,25 KG044 117

2,0 KG045 117

Part-No. : 044 117

Part-No. : 045 117

50
KGmax.

MAX. 150 KG

®

®

A t e r a G m b H
P o s t f a c h 2 2 4 0
D - 8 8 1 9 2 R a v e n s b u r g
Te l e f o n 0 7 5 1 - 7 6 0 4 - 0
Te l e f a x  0 7  5 1  -  7 6  0 4 - 7 6
E - M a i l : i n f o @ a t e r a . d e

16

17

18

nur bei/only for
Part-No.: 045 117

16- 092 075
17- 093 137
18- 092 071

1 2

3

4

6

7

8

9

5

1- 074 137
2- 093 357
3- 092 683
4- 088 184
5- 092 043
6- 092 045

7- 092 044
8- 087 866
9- 093 491

10- 087 866
11- 087 909
12- 092 037

13a- 092 414
13b- 092 415
14a- 087 696
14b- 093 030
15- 093 389

11

14a (M6x25)
14b (M6x18)

10

13a

087 609

15

13b

12

®

9

8

nur bei / only for Part-No.: 045 117

6

1

®

2

®

4

7



SIGNO
Mercedes Benz
Vito/Viano 2003–

SIGNO
Mercedes Benz
Vito/Viano 2003–

A1

A2
B

A1 + A2 = Art.-Nr/Part-No. 044 116 (Grundträger/ basic carrier)
 B = Art.-Nr/Part-No. 044 117 (Zusatzbügel/ additional carrier bow)

A1 A2B

3

1

ca. 6 Nm

TX 30 (Part.No. 087 609)

5

10 mm

10 mm

2

a = b
ba

TX 30 (Part.No. 087 609)

ca. 2x

3

2

1

1

10 mm
M6x18

18 mm

10 mm
25 mm

M6x25

4 - 6 Nm

4

®

4


